
Soustraction Pâques (D)Obtenez une tulipe pour chaque réponse correcte. Tulipe obtenue: _____/2559 116 83 155 169- 57 - 33 - 66 - 70 - 83
36 145 85 159 125- 7 - 73 - 41 - 83 - 34
80 63 104 90 46- 17 - 7 - 94 - 56 - 12
39 36 183 145 97- 3 - 11 - 89 - 51 - 17

178 76 102 92 144- 81 - 20 - 73 - 42 - 53
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Soustraction Pâques (D) RéponsesObtenez une tulipe pour chaque réponse correcte. Tulipe obtenue: _____/2559 116 83 155 169- 57 - 33 - 66 - 70 - 832 83 17 85 86
36 145 85 159 125- 7 - 73 - 41 - 83 - 3429 72 44 76 91
80 63 104 90 46- 17 - 7 - 94 - 56 - 1263 56 10 34 34
39 36 183 145 97- 3 - 11 - 89 - 51 - 1736 25 94 94 80

178 76 102 92 144- 81 - 20 - 73 - 42 - 5397 56 29 50 91
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